Math 188, Winter 2001

January 26, 2001

Prof. Tesler . with corrections
Quicksort ( )
S[0]  S[1] S[2] S[38] S[4 S[5] S[6]  S[71  S[8  S[9] S[10] S[11]  S[12]
Input: | 90 20 130 40 70 100 30 110 10 50}
First partition: / ~~~~~~~~~~~~~~~~~~~~
[ 50 20 40 70 60 80 {130 110 100 120|
. TN pivot /
Second partitions: PP \ Tl /
A >
50 | 80 70 60| {120 110 100 130
60 100 110
Output: 10 20 30 40 50 60 70 80 90 100 110 120 130
Details of first partition:
Input: I 90 20 130 40 70 100 60 80 120 30 110 10 50|
Pivot = S[0] = 90
Swaps: 20 (swapped with itself)
40 130
70 130
60 130
80 100
30 130
10 100
50 120
Final step: put pivot in proper position
50 90
Output: | 50 20 40 70 60 80 30 10} 90 |130 110 100 120|




